EARAZROREIERT — 2 N—XBISY —F 201259838 (A) 6MEMiEIH

m"fﬁ%—ﬂﬁ C1=m ‘ (%E] W ‘ (mEsE] — | 4 (&) 16000 B
[A&4£] 1 7% :1,100,000  ~ 2 3 :330,000 @  337%&:198,000  ~ 4 #&:132,000 @ 5 7 :110,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
FlBEX 1:42. 1-1-1-1 . — 4 4 JIBET (818)
1 3| A¥—btINT Ry (_)5 %0 (g? i
Z:vA7x BN EZ— EdhTT— L
. 4 | WAEEX 1:42. 4-3-2-2 4| — 1 4 HRS (hE)
2155 387N # 54.0 (7975) 8 ® (_613) ZIgEH
R:Tv TRy b BixA4>ag /X e
o %S : 54— - EEEH (ffE)
3l11| bv7¥vRVT TR 1'?5'2 oo |99 ? fﬁ) E’EE?K%(
R:Za—-A>T52K BNIITT4—> AKX FR
B M . _o_o_ — MEE (f1S)
4 6| 47T 2TV it 4 bt (11.413/.25) 2-2-2-2 | 40.4 7 <4+722) %t@%f; A
LY I5TLIF N BihaH JNE 1%k
sBY o | 77y 7 UNALNIL # 3 | Bh-E 1:(4;1).2 6-7-65 (40.8 — | 5 | 42 lzclbllig%g (#348)
QRTART I B H = 0 | H5a55 -4
=, [Fe 4 3 | HTHER 1:44.7 3-3-4-6 |41.4| — 8 483 | MARE (AN
6l8lg|7>¥E-V2Z 56.0 2 1/2) +1) | BEER
R:TIVHAZIL K B:OCR>T757— PNEFHES
N &L . 88 _ = (1R
202l 7 | 2P 050709 # o3 gg_b* 1.&3.4 8-8-8-8 | 42.3 3 (5_135) §g1ﬂ§ (1)
ZRYYTHTF— BATATIRT X T O4%E
. IFEZ . S _ JNBE— (#:45)
glglg| h—tnTUT i 4 uTe 1.(457).5 5-6-7-7 | 44.0 6 (4;5) i o
RELRA Y E =T BN —TaA HiHS
N . 7 | EEX 1:48.2 -9-9-9 | 44. - 19 | &O—FF GEF)
9 g | AT T # 56.0 (38) e ’ ’ <5+29) AL
RFqLN—hb— BRXAHFIUL 1A Ei

@ 11— —EBIRfL

13—+— |3,6,9,58,(1,2),7,4

23—+— |3,6,(59),1,8,2,7,4

33—7— |3,(56),(1,9,2,8,7,4

43—75— |3,(5,6),1,2,9,8,7,4

[ RN

-y 3 580 | | 74 R 3-5 380 | | # & 3-5 1,030/ | | 848 1-3-5 900M

BB 3 190/ 1-3 300 | | #e B 3-5 1,170/ | | S8 3-5-1 6,300M
5 120M 1-5 2710 | | BB & 3-5 850/
1 110/ B 3-5 1,880/

ABICOVWTRDTEEERROODE. TR LIV,



